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O, 0.1291 | 0.4888 0.3421 0.0402 0.0402 0.0887 | 0.0375
O, 0.0215 0.5 0.5 0
O, 0.0427 | 0.2361 0.1352 0.5343 0.0498 0.0446 | 0.0221
O, 0.0189 | 0.5362 0.3552 0.560 0.0526 | 0.0142
O, 0.0271| 0.2737 0.2737 0.2617 0.0600 0.1309 | 0.0020
O, 0.0232 | 0.3936 0.3936 0.1375 0.0753 | 0.0014
O, 0.0382 | 0.6694 0.2426 0.0880 | 0.0035
O; 0.0122 0.2 0.2 0.6 0
O, 0.1000 | 0.4139 0.2570 0.2570 0.0361 0.0360 | 0.0133
O, 0.0666 | 0.4112 0.2538 0.2538 0.0406 0.0406 | 0.0216
O 0.0122| 0.5 0.5 0

0.4152  0.2009 0 0.0074 0.0067 |CR=0.018

1. 0]
O

3-10




3-10
1 2 3 4 5
O, Os O, Os Os
% | 0.1710 0.1291 0.1258 0.1090 0.0692
6 7 8 9 10
017 OG 02 OlO 014
% | 0.0666 0.0618 0.0526 0.0427 0.0382

3-10
14
0. 5349
2 P
P 3-11
3-11
1 2 3 4 5
P, P, P, P, P,
% | 41.52 24.93 20.09 7.07 6.39
3-11
41. 52% 24.93%
86. 54%

20. 09%
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20

80



DO
NO,

Grey System

pH

Fe

Mn

Erol Bassar

NO,
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—

e

N N N DN

> S5 S S

X, t
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x(1) A

|

0 1
X t Xt
Y1 0 2
0 3 Y3
Y122 >Ys

Xot = % 1 %2
X 1 % 2

X
||
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At =[xt -x t

Arinin:mitn‘xot - %t
|

Ar‘naxzmz?x\xot - %t

t=12... n

gt X t %t t pe 01

At = Amax gt
:Arhin+PAﬁ1ax:Aﬁ1in +p A max
At +pAmax  Amax +pAmax

gt

=Arinin/ﬁrinax+ p =Arinin[ p ]+[ p ]
1+p 1+p Amaxtl+p 1+p

Ay
+mm]
A max

Amin =
pl 1+p git
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7i_1i§it 4-2

T niés
it 4-2
gi t X t

Lt = Lt Gt
s S y=5S/S

<A
<o
1.0
.4{/
05t
0 o
4-2
R R
1 X t Rx t i =
X U Rt X t Rt gy ={j e
01
3 x t Rg t x tRx t X t Rx t
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fij

e ¢ jk >0
4-1 1988
4-1
4-1
%
1 2. 3.
X, | 33.6 66. 4 0
X 1.6 98.0 0.4
X, 16.1 82.2 17
X;| 23.5 69. 6 6.9
X, | 23.2 65. 6 11.3
Xs | 16.9 7.7 54
Main Sdence and Technology Indicators 1981 - 19870ECD 1988
1 4-2
4-2
1 2 3 A min A max
A, 32.0 31.6 0.4 0.4 32.0
A, 17.5 15.8 1.7 1.7 17.5
As 10.1 3.2 6.9 3.2 10.1
VAWA 10. 4 0.8 11.3 0.8 11.3
As 16.7 11.3 54 54 16.7
2 p=0.5
4-3
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4-3

i |e=pAmax PAminte Al to A2 +to A 3 +g
1 16.00 16. 40 48.00 47.60 16. 40
2 8.75 10.45 26.25 24,55 10.45
3 5.05 8.25 15.15 8.25 11.95
4 5. 65 6. 45 16.05 6.45 16.95
5 8.35 13.75 25.05 19.65 13.75
3 p =05
4-4
4-4
t {1 {2 {3 {a s
1| 03417 0.3981 0.5446  0.4019  0.5489
2| 0.3445  0.4257 1 1 0. 6997
3 1 1 0.6904  0.3805 1
Y | 16862 1.8238 22350 17824  2.2486
4-5
5
4-5
Y1 Y2 Y3 Ya Ys
0.5621 0.6079 0.7450 0.5941 O0.7495
5 3 2 4 1
3.
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p=1 it =05 it e 051
p=0.1 ¢t =009 ¢ te 0091
it P gt

Lp =p/ 1+p pe 0 +

4 -3 1
L, p
d., p _ 1
t 1+p °
4-4 1
p { 4

p—>+ é’—»l
p<0.5463

L, p L, »p S
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S:£l+p2dp arctgp, o, =1

A
L
10 b
057777 H
0.333 |- E
- -
0.5 1.0 2.0 3.0 4.0
4-3
| WP
1 - p
3.0
4-4
S/S =0.5
1 SIS, =
0.5 p,=0.5463 p<0.5463 L, p
p 0 0.5
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19 X1—19 X5 Xo
X X, X
X, X 4-6
4-7
4-6

19X1 19X2 19X3 19X4 19X5
X 11.19 13.28 16. 82 18.90 22. 80
X, | 308.58 316. 00 295. 00 346. 00 367.00
X, | 195. 40 189. 90 187. 20 205. 00 222.70
X, 24. 60 21. 00 12. 20 15.10 14. 57
X, 20. 00 25. 60 23.30 29. 20 30. 00
X 18.89 19.00 22. 30 23.50 27. 65

4-7 p

P Y1 Y2 Y3 Ya Vs
1 0.794 0.781 0.694 0. 868 0. 853
0.5| 0.680 0. 663 0. 567 0. 799 0.772
0.1 0.405 0. 386 0.327 0.501 0. 437

3 4 5 1 2
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p
4-8 o
4-8
o 1 0.5 0.1
vs-7vs [ly.| 0.038 0.073 0.127
vs-v1 [lys| 0.049 0.058 0.073
vi-v, Iy, ] 0.016 0.025 0.046
y2-vs ly.| 0.111 0.144 0.152
4.
1
x 1 #0i=012... m
X.O t = {Xi 1 Xi 2 n }
' 3 1 x 1 n




H, = maxX,
X 1 X 2 X n
Xi - { i i i }
H; H,
i=012...
0
x 1 x 2 X N
Xi min = { I I I }
I-i I-i
i=012
_ 10
I
ntzl !
X _ {xi 1 x 2 X, n }
I X Xi Xi
i=012...m
4-3
4-9
4-9
X, ¢m X, X, mm X;  hour X, %
1 0.01 4.20 17. 00 54. 50 81.00
2 0.50 7.40 10.80 73. 80 79. 00
3 1. 50 10. 00 17.40 84. 70 75. 00
4 10. 80 16. 10 19.70 137. 00 75.00
5 13. 00 21. 10 248. 70 149. 60 77.00
6 16. 30 23.90 72.20 109. 50 79. 00
7 18. 00 24.70 96. 90 101. 60 83. 00
8 19. 30 24. 50 269. 50 164. 60 86. 00
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X, cm X, X, mm X;  hour X, %
9 14. 80 22.00 194. 80 81.60 83.00
10 10. 30 18. 00 58.10 84.00 82.00
11 8.00 13.10 4.90 79.30 81.00
12 1.00 6.80 12. 60 66. 50 82.00
1 4-10
4-10
t X X X X X,
1 1.00 1.00 1.00 1.00 1.00
2 50. 00 1.76 0.63 1.35 0.97
3 150. 00 2.38 1.02 1.55 0.92
4 | 1080.00 3.83 1.16 2.51 0.92
5 | 1300.00 5.03 14. 60 2.74 0.95
6 | 1630.00 5.69 4.25 6.44 0.97
7 | 1800.00 5.88 5.70 1.86 1.02
8 | 1930.00 5.83 15. 85 3.02 1.06
9 | 1480.00 5.24 11. 46 1.45 1.02
10 | 1030.00 4.28 3.42 1.54 1.01
11 800. 00 3.12 0.29 1.45 1.00
12 100. 00 1.62 0.74 1.22 1.01
2
4-11




4-11

t A, A, As A,

1 0 0 0 0
2 48. 29 49. 37 48. 65 49. 03
3 147. 82 148. 98 148. 45 149. 02
4 1076. 17 1078. 84 1077. 49 1079. 02
5 1294. 97 1285. 40 1297. 26 1299. 05
6 1624. 31 1625. 75 1623. 56 1629. 03
7 1794. 12 1794. 30 1798. 14 1798. 98
8 1924. 17 1914. 15 1926. 98 1928. 94
9 1474. 76 1468. 54 1478. 55 1478. 98
10 1025. 72 1026. 58 1028. 46 1028. 99
11 796. 88 799. 71 798. 53 799. 00
12 98. 38 99. 26 98.78 98. 99

3  p=0.5
4-12 4-13
4-12

i 1 2 3 4

A in 0 0 0 0
A ax 1924.17 1914.15 1926.98 1928.94
© =p A 962. 09 957. 08 963. 49 964. 47

4-13
t Ay T +o Ay T +op Ay T+ A T +o,

1 962. 09 957. 08 963. 49 964. 47
2 1010. 38 1006. 45 1012. 14 1013. 50
3 1109. 91 1106. 06 1111.94 1113. 49
4 2038. 26 2035. 92 2040. 98 2043. 49
5 2257.06 2242. 48 2260. 75 2263. 52
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t Ay T +o Ay T +¢p Ay T +gg Ay T +o,
6 2586. 40 2582. 83 2587.05 2593. 50
7 2756. 21 2751. 38 2761. 63 2763. 45
8 2886. 26 2871.23 2890. 47 2893. 41
9 2436. 85 2425. 62 2442.04 2443. 45
10 1987. 81 1983. 66 1991. 95 1993. 46
11 1758. 97 1756. 79 1762. 02 1763. 47
12 1060. 47 1056. 34 1062. 27 1063. 46
4 4-14
4-14
t & § {3 {a
1 1 1 1 1
2 0. 9522 0. 9509 0. 9519 0. 9516
3 0. 8668 0. 8653 0. 8665 0. 8662
4 0. 4720 0. 4701 0.4721 0. 4720
5 0. 4263 0. 4268 0. 4262 0. 4261
6 0. 3720 0. 3706 0.3724 0. 3719
7 0. 3491 0. 3479 0. 3489 0. 3490
8 0. 3333 0. 3333 0. 3333 0. 3333
9 0. 3948 0. 3946 0. 3945 0.3%47
10 0. 4840 0. 4825 0. 4837 0. 4838
11 0. 5470 0. 5448 0. 5468 0. 5469
12 0.9072 0. 9060 0. 9070 0. 9069
> 7.1047 7.0928 7.1033 7.1024
5 4-15




Y1 Y2 Ys Ya
0.5921 0.5911 0.5919 0. 5918
1 4 2 3

1
4-5
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X, X, t
1dx
X, dt
1 dX,
X, dt Xt
X, t
1
1+ idxo 1%
X, dt X, dt



2X0t xlt t
3 Gt =1 Xt Xt
3
4
Xot = % 1 x5 2 X
Xt = x1 x2 X
X t Xt
1
git
1+ AXy t _Axit
X, t X t
AXg t =% t+1 - x5t
Axlt _Xit+1 _Xit
X, t Xt
5 4 - X, t
gi t
lN-l
i = ot
VTN 1S
X, t Xt
4-4 4-3
1
4-16

gt
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AX, t AX t AX, t AXy t AX, t
t X t X t X, t Xy t X, t
1 | 49.000 0.762 - 0.365 0.354 - 0.025
2 2.000 0.351 0.611 0. 147 - 0.051
3 6. 200 0.610 0.132 0.617 0
4 0. 204 0.310 11. 620 0.092 0.026
5 0.254 0.133 0.709 -0.280 0.026
6 0.104 0.033 0.342 -0.072 0.051
7 0.072 - 0.008 1.781 0. 620 0.036
8 | -0.233 -0.102 -0.277 -0.504 - 0.035
9| -0.304 -0.182 - 0.702 0.029 - 0.012
10| -0.223 -0.272 -0.915 -0.055 - 0.012
11 0.875 -0.481 1.571 -0.161 0.012
2 4-4 4-17
4-17

t & g {3 {4

1 |0.0203 0.0198 0.0201 0.0200

2 |0.7936 0.4186 0.3505 0.3278

3 |0.6766 0.1415 0.1519 0.1389

4 |10.9041 0.0805 0.8992 0.8489

5 10.8920 0.5094 0.6519 0.8193

6 |0.9337 0.0807 0.8503 0.9497

7 10.9299 0.3691 0.6460 0.9653

8 10.8341 0.9578 0.7867 0.8374

9 ]0.8196 0.7153 0.7502 0.7740

10 | 0.9532 0.5910 0.8432 0.8258

11 | 0.7174 0.5896 0.4912 0.5368

> | 85245 4.4733 6.4412 7.0439
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Y1

Y2

Y3

Ya

0.7756 0.4067 0.5856 0.6396

1 4 3 2
4-3
Xo
X, t X t
G to=
1+dXOt_dXit
dt dt
X, t X
X, t
Xt = %1 %2 X N
Xt = x 1 x 2 X, N
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1

ot T a1 A%t 1 AXt
o, At o, At
_ 1
14| A%t AXt
Ty, Oy,
t=12... N
X, t Xt
AXy U =% t+1 - %t
At =x t+1 -x t
At= t+1 -t=1
X, t X t
_ 1« v 2
UM—JN; X t - X
N
Uxi:J;; X t -iiz
X, t Xt
1
2 0
3 4-5
4-5 4-3 4-9
1 4-19
4-19
Oy Oy Ty, Ox3 Ty
6. 87 7.18 93.34 33.19 3.22




4-20

—

AX, t

AX t

AX, t

AXg t

A

X, t

Ty,

Oys

© 00N O O b WN P

B
= o

0.071
0. 146
1.354
0. 320
0. 480
0. 247
0.189
- 0.655
- 0.655
- 0.355
- 1.310

0. 446
0. 362
0. 850
0. 696
0.390
0.111
0.028
3.480
0. 557
0. 682
0.877

- 0. 066
0.071
0.025
2.453

-1.891
0. 265
1.849

- 0. 800

- 1. 965

- 0.570
0. 082

0.582
0.328
1.576
0. 0380
-1.201
- 0.238
1.898
- 2.500
- 0.072
- 0.142
- 0.386

0.621
1.242

0.621
0.621
1.242
0.932
0. 932
0.311
0.311
0.311

'
N
=

4-21

&

)

$)

s

© N UAWNR|[~|n

e
= o

0.727
0.822
0. 665
0. 727
0.917
0. 880
0. 822
0. 765
0.911
0.754
0.098

0. 897
0.930
0. 429
0.319
0. 297
0.982
0. 376
0. 873
0.552
0.823
0.418

0. 662
0. 846
0.818
0. 943
0.373
0.673
0. 369
0.351
0.579
0.824
0. 520

0.591
0.419
0. 425
0. 767
0. 867
0.501
0.574
0.783
0.774
0. 958
0. 500

™M

8. 088

6. 896

6. 958

7.159
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4- 22
4-22
Y1 Y2 Y3 Ya
0.735 0.627 0.632 0.651
1 4 3 2
5
4-4
m n
Y, k = yyk | k=12 L i=12
Xk = x5k |k=12 L j=1
Y kX k ry R
|:|r11 My r1nD
O, r r,, o
_ 21 22 2n
ny_ r.ij an_E E
qml rmZ r'rm[|
4-6



4-23

19X1—-19X5

19X1

19X2

19X3

19X4

19X5

[N

X X X X

&2

452. 64
205. 92

5.69
188. 00
53.03

409. 23
185. 48

7.67
157.74
58. 17

407. 07
158. 29

6. 76
152. 35
62. 27

410. 38
190. 09

5.64
153. 85
78. 81

475.59
190.01
22.37
144. 35
118. 86

19X1—19X5

19X1

19X2

19X3

19X4

19X5

R

369. 86
263.33
4.69
9.24
92. 60

344. 92
228. 61
7.78
6. 80
101. 73

331. 64
210.90
3.62
2.81
114. 31

439. 98
280. 25
574
4.88
149. 11

504. 06
239.73

8.76
40. 27
215.30

P =0.3

19X1—19X5

19X1

19X2

19X3

19X4

19X5

665. 10
375.13
10.84
177.54
92. 60

679. 61
358. 97
25.11
193. 79
101. 73

662. 56
354. 52
20.31
202. 65
115. 10

737.84
380. 31

25.75
182. 67
149. 11

754. 15
284.75
71.43
182. 67
251. 30
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4-26 4- 27
4- 26

X, X, X, X, X
Y, | 0.7208 0.8578 0.8915 0.8615 0.8846 0.8432 2
Y, | 0.7958 0.8450 0.9092 0.8099 0.8050 0.8330 4
Y; | 0.9607 0.8988 0.7272 0.9270 0.8397 0.8707 1
Y, |0.9723 0.9045 0.7182 0.8008 0.8121 0.8416 3
Ys | 0.9179 0.6914 0.8249 0.4997 0.8055 O0.7479 5

0.8735 0.8395 0.8142 0.7798 0.82%4
1 2 4 5 3
4-27

X, X, X, X, X
Z, |0.851 0.9227 0.9635 0.9164 0.9698 0.9255 1
Z, |0.7215 0.7107 0.8340 0.8140 0.7244 0.7609 4
Z; |0.9740 0.8439 0.8226 0.7210 0.8654 0.8454 2
Z, |0.8925 0.7609 0.9268 0.5902 0.7075 0.7756 3
Z; |0.8481 0.7808 0.8182 0.5006 0.7980 0.7491 5

0.8582 0.8038 0.8730 0.7084 0.8130

2 4 1 5 3

3
4-28
p=0.3
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Z, Z, Z, Z, Zs
Y, |0.8768 0.7014 0.8991 0.7736 0.8899 0.8282 1
Y, |0.9153 0.6328 0.8590 0.5284 0.4814 0.6834 5
Y, |0.9636 0.8556 0.8376 0.9647 0.8178 0.8879 2
Y, | 0.9667 0.8031 0.7234 0.8672 0.8007 0.8322 3
Y; |0.9650 0.5667 0.8258 0.7086 0.8325 0.7797 4
0.9375 0.7119 0.8290 0.7685 0.7645
1 5 2 3 4
4 4- 26
4- 27
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9. 26km 18km 100km 335kn?
8 ~10m 18m 22 ~24m
114015 114016 114017 114018 114019°E

220 T T T T T
" M » |
o) KD & o &
w b HiH i
20 ®s,

, o, J
35 ”!Sj “z("“:m‘g-— -
220 | o - T

» = - - ‘D -
: NS =g

4-6
1990 3 30 6 25 2d 19
31 X19X3
2 31. 6cm 140cm
GB36 2L
1975 37cm 130cm 70pm
S 100m S
500m S 1 000m
0.5m 3m 5m 9m S; S,
St S Sy Sy S S S
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X° k|k=12... N i=123 N =
31 ind/L TC SO

DO mg/L pH PO, no/L

NO, wg/L NO, pg/L S g/l Fe
wa/L Mn pg/L 12 X k |k=
12... N j=12...12

2.

YO k|k=12... N = X° k/X° 1 |k=12... N

i=123 X° 1 =0
Y = X k/X1 j=12...N
3.
L= G k|k=12...N i=123j=12...12
i YO ot j Y t

minA; k +maxA; k
Zi K = jk i k
! Ay k +pmaxA; Kk
jk

i=123 j=12...12 k=12... N
Ay k = Y° k -Y k| p =01
4,
1< . :
yijzﬁk;gijk i=123 j=12...12
Yii i A AN i Yt

4-29 4 - 32



4-7 4-9
Fe Mn
1
4-29
Su S Sa Sp Su Sp
1 0.9094 | 0.9404 | 0.9378 | 0.8710 | 0.9844 | 0.8858 | 0.9215 | 1
2. T 0.8482 | 0.9143 | 0.8590 | 0.7208 | 0.9373 | 0.6124 | 0.8153 | 8
3S 0.8627 | 0.9187 | 0.8795 | 0.7426 | 0.9467 | 0.6434 | 0.8323 | 7
4. DO 0.8750 | 0.9273 | 0.8917 | 0.7769 | 0.9533 | 0.6568 | 0.8468 | 5
5. pH 0.8617 | 0.9230 | 0.8815 | 0.7505 | 0.9468 | 0.6475 | 0.8352 | 6
6. 0.8984 | 0.9239 | 0.9125 | 0.8049 | 0.9764 | 0.8517 | 0.8946 | 3
7. PO, 0.4616 | 0.5394 | 0.4036 | 0.4003 | 0.6044 | 0.7720 | 0.5302 | 12
8. NO, 0.8364 | 0.6787 | 0.8148 | 0.6628 | 0.6738 | 0.6718 | 0.7231 | 10
9. NO, 0.8536 | 0.8825 | 0.6976 | 0.7390 | 0.9291 | 0.6288 | 0.7884 | 9
10. S 0.5109 | 0.8441 | 0. 7457 | 0.5876 | 0.7220 | 0.5367 | 0.6578 | 11
11. Fe 0.9061 | 0.8749 | 0.9338 | 0.8270 | 0.9826 | 0.8470 | 0.8952 | 2
12. Mn 0.8916 | 0.9434 | 0.9120 | 0.7932 | 0.9695 | 0.6235 | 0.8555 | 4
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Su | Se | S | S | sa | s
1. 0.7422 | 0.8783 | 0.9531 | 0.8449 | 0.9535 | 0.8303 | 0.8671 | 1
2. T 0.7188 | 0.8495 | 0.8642 | 0.8446 | 0.9071 | 0.5772 | 0.7935 | 8
3. S 0.7268 | 0.8555 | 0.8847 | 0.8450 | 0.9182 | 0.6194 | 0.8083 | 7
4. DO 0.7292 | 0.8594 | 0.8969 | 0.8447 | 0.9256 | 0.6255 | 0.8136 | 5
5. pH 0.7257 | 0.8557 | 0.8891 | 0.8450 | 0.9188 | 0.6233 | 0.8096 | 6
6. 0.7214 | 0.8580 | 0.9336 | 0.8461 | 0.9385 | 0. 7730 | 0.8451 | 2
7. PO, 0.4078 | 0.4891 | 0.3926 | 0. 7726 | 0.5914 | 0.6702 | 0.5540 | 12
8. NG, 0.7050 | 0.6459 | 0.8363 | 0.8475 | 0.6628 | 0.6122 | 0.7183 | 10
9. NO; 0.7199 | 0.8280 | 0.7154 | 0.8498 | 0.9038 | 0.6050 | 0. 7703 | 9
10. S 0.5411 | 0.7860 | 0. 7676 | 0.8406 | 0.7353 | 0.5363 | 0. 7012 | 11
11. Fe 0.7305 | 0.8056 | 0.9476 | 0.8456 | 0.9486 | 0. 7450 | 0.8372 | 3
12. Mn 0.7330 | 0.8742 | 0.9320 | 0.8450 | 0.9407 | 0.6317 | 0.8261 | 4
4-31
Su | Se | S | S | Su | S
1. 0.9417 | 0.9766 | 0.9503 | 0.9286 | 0.9897 | 0.8747 | 0.9436 | 1
2. T 0.8722 | 0.9432 | 0.8630 | 0. 7671 | 0.9297 | 0.5751 | 0.8251 | 8
3. S 0.8882 | 0.9481 | 0.8842 | 0. 7901 | 0.9399 | 0.6113 | 0.8436 | 7
4. DO 0.8999 | 0.9576 | 0.8957 | 0.8258 | 0.9473 | 0.6190 | 0.8576 | 5
5. pH 0.8865 | 0.9527 | 0.8887 | 0. 7972 | 0.9401 | 0.6161 | 0.8469 | 6
6. 0.8186 | 0.9595 | 0.9261 | 0.8612 | 0. 9724 | 0.8001 | 0.9063 | 2
7. PO, 0.4320 | 0.5318 | 0.3842 | 0.4275 | 0.6004 | 0.7430 | 0.5198 | 12
8. NO, 0.8567 | 0.6898 | 0.8317 | 0.7389 | 0.6669 | 0.6885 | 0. 7454 | 10
9. NO; 0.8741 | 0.9144 | 0.7116 | 0.8038 | 0.9277 | 0.6382 | 0.8116 | 9
10. 9 0.5091 | 0.8703 | 0. 7531 | 0.6457 | 0. 7120 | 0.5367 | 0.6712 | 11
11. Fe 0.9308 | 0.9005 | 0.9494 | 0.8751 | 0.9896 | 0.7885 | 0.9057 | 3
12. Mn 0.9159 | 0.9818 | 0.9236 | 0.8523 | 0.9705 | 0.6354 | 0.8799 | 4




4-32 12

1 2|3 |4|5 |6 |7 |8|9]10|11]12
Fe Mn | DO | pH | S T |[NO; NG, | § | PO,

Fe |Mn |[DO|pH| S | T |NO;|NO,| § |PO,

Fe [Mn|DO|pH| S | T [NO;|NO,| § |PO,

1990-03-30

4-7

BHE (R 1990-06-25

I S|

1990-03-30

4-8

BHE (KD 1990-06-25

S
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SZI

.'/’:\ I}Ff\\
VR
1990-03-30
4-9 %1
- - Fe — - —M,
1
2 3
2-4
2 3 1
Fe
2 3 Mn 1
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pH

DO

Fe
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n n-1
a()dd:r('.o-'-al dtn.f°+ a, 1%0”%)(0
=bx +bx, + +bx,
Zéai ddtn_)fo JZ{ijj 5-1
Xo X ] =12. m
a, =1
Grey Model GM n h n 5-1
h =m+1 Xo X X,
Xm
GM n h
GM n h X,
Xy X, o0 X, 5-1
aQ a ... a, byb ... b, GM
n h
GM n h
GM n
h GM n h
Xo X Xo
X GM n h
5-1
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( o et
X0 + 1=AGO X0 + X X“’(t)

Ao X0 g

B

1-IAGO

GM
GM

Accumulated Generating Operation
Inverse Accumulated Generating Operation
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k=1
1- AGO
X, X 5-2 a
1- AGO Xy =X, 5-2 b
X(O‘/ X((
A |
4 r 4
3k 3
2+ 2+
a ././0—-. il
1 1 " ‘I
1 2 3 4 5 o2 3 45
5-2 a 5-2 b
Xo S s- AGO
t
X° = x>t =3¥Yx® k t=12 T
k=1
i=12. m
GM 1- AGO
1- AGO
GM n h X,°
1- IAGO X,
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XOO = XOO 1 =X01 l
X2t o =x't -x't-1 t=23...T
s- AGO
GM
s- IAGO
2.
GM
GM
GM
X° x t t=12... T
0 0
g S = X Lok=34..7
Y x° ok
k=1
& k=3 T 0<g <1
0 X °
GM
X ° AGO
s- AGO X°®
3. GM n h
GM 5-1
1 h=m+1 X0 X° Xy
- AGO Xt X! Xt GM
Xt X? Xt GM n h
n dn-i 1 m
zai dt;(OI = zbjxll 5-2
i=0
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dt"’ NG
3 X' = oxt ot t=12... T IAGO
1- IAGO
Vit to=xt ot - xt ot-1
t=23 T
2 - IAGO
Vit ot =Vt - VT t- 1
t=23... T
n- IAGO
V%t =V Mt ot - vt ot 1
t=23...T
4
Vit ot = VTt
t=23 Ti=012...n
GM 5-2
n-1
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N o -
- — -
X <
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> > >
1 1 1

N ™ —
— — —

X X <
N N (V]

& & &
> > >
1 1 1
N (90} -

- — —
X <X
- i m —
= & IS
> > >
OOoDooo)
I
<C

Oo0O00O0
N (90} -
Xm Xm Xm
N (90} -
o o o
> > >
N ™M -
S
o o o
> > >
oD oOo
I
m

GM

Aa, + Ba,

|

(2]
«,

AB[

Y =

|

a,
(2]

|

AB a-=

C =

GM

ey
AB™AB

ccC

o

T ABY

t =

X' t-1
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T B V%' t=23... T
D_ l 1 + 1 1 1 0
0" 2 Xy 2 X 1 X~ 2 X, 2 0
D 1 1 1 1 1 D
0- = + g
B=pg 2 X 3 X~ 2 X~ 3 Xn 3 a

0 O
0 1 0
E-?xolT+xol T-1 x' T x+ T H

@ @ GM n h
5-2
5-1 5-1 GM 2 2

dZXOl dXol
dt? ta dt + azxol = bxll t
5-1

t Xy’ X,° X' X!

1| 2874 7.040 2. 874 7.040

2 3.278 7.645 6. 152 14. 685

3 3.337 8.075 9. 489 22.750

4 3.390 8.530 12. 879 31. 290

5 3.679 8.774 16. 558 40. 064

1 a

Y = V»ZXOl 2 V-ZXOl 3 v»zxol 4 V-ZXOl 5 T
= 0.404 0.059 0.053 0.289 °
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X' 3 +x' 4 X" 4

NP NP N[RN[R

B
o o o o o

- V' 5 - Y4 +x' 5 x' 5

o 3278 - 4513 14.685(
0-3.337 - 7.820 22 7500
O-3.390 - 11.184 31, 290%
U 3679 - 14.718 40.064"

a= @ a b"= -0.298 1100 -0.240 *
GM 2 2

d2X01 dxol

o028y

2 A% - 0.298)

+1.1x" =-0.24x" t

_0.298+ ,/0.298% - 4x1.1

5 =0.149 *i

A, =a+ iw=0.149 +i
A, =a - iw=0.149 - i

at

Xy = Acoswt+AsSnet e
=  Acospt +Asnwt e %™
t=0 X, 0 =2.874 t=0
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dx,’
p =2.874 - 2.643 =0. 201

A =x' 0 =2874
ﬁ _d Acost + Asint e
dt |, dt .
- Asint + Acost €%
+ - Acost+Asint -ae®

A, - 0.149 x2.872 = 0.201

1

X" t+1 = 2 874cost +0.659sint e
GM
n h =1+m 1 m
GM n h n h GM
GM
1 GM n1
GM n1l n
GM
nl n 3 n
n=1 GM 11
dx * ! =y
dt
GM 11
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2. GM 1 h

GM 1 h
X j=12... m X,
dxol 1 1 1 1
at +ax, =bx~ +bx,” +... +b X,
h=1+m GM 11
GM 1 h
3. GM 0 h
GM 0 h
h-1
)(01 :Zlejl +b0 h=m+1
=1
GM n1l
GM n1l
5-2 h=1
h-1
u= bx*

162



>

([

=u
= dt™'
GVM nl
a= a a ... a,...u’
= AB"AB 'AB?Y
Y = anol 2 vnxol 3 vnxol T T
_v-nlxol 2 _v-n-2xol 2 _v-l
_ V» n-1 Xol 3 _ v- n2X01 3 _ V»l
_ v n-1 Xol T _ v- n-2 Xol T . v-l
R
U 1 . . il
O - = %" 3 +x%' 2 10
B=n 2 d
O O
0 1 O
Ty % T o4x T-1 1p
5-2
5-2 M 21
5-2
t 1 2 3 4 5
X° 2.874 3.278 3.307 3.390 3.679
X! 2.874 6.152 9.459 12.849 16.528
VIt 3.278 3.307 3.390 3.679
v X, 0.404 0.059 0.053 0.289
GM 21
GM 21

[ |
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I o

d2 1 d 1
XO +al )c(;t +a2XO1

=u

dt
a u’= A.B" A.B ' A.B"Y
11 1 1 1 O
-V 2 5 % 1oEx 2 10
1,1 l 1 1 |:|
-V 3 S5 % 2 +x 3 10
0
-||:|
L O
FU T -t TAL o T 1d
V%' 2 VxS 3 ... VA T T
AP +ar+a, =0
A=
ax"+bx' +ex=u ar’>+by +¢c=0
- b+ ./ +4ac
Az =5
b c
/\1+/\2:'g )\l/\zzg

X"' /\1+A2 XI +/\1/\2 :0



X - A X D= A, X - AX
y:XI - )‘1X yI :/\2y
y=X - A, x=Ae?
A

x:BeM‘+Ae‘2tfe“'“ ‘dt B
B+A ¢ A=A,

Tleet= A @t A2,

/\2'A1
x=¢e' ¢ +ct
2 A #EA
x=clef‘1‘+cze”2‘+a£
2
¢ G
A A,
V%t 2
av "% O (p.404
_ EV'ZXJ 3 E_ 0. 0590
Y7 By 0 5.053]
oo % 4 B
Oy -2t 5 0 0.289
o V% 20 3278y
A= E— Vi 3 E_ B- 3. 307%
E- V'lxol 4 E E- 3390%
0oyt 5 0 —-3679
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0 % %2 ext 1 10
0 4 - - 1D 0 - 4513
a2 0 BT 8:5-7.820
O o &-
D'%Xol 4 +X01 3 10 E 11. 184
0 0 - 14.7185
3 5% 5 +x' 4 1f
— O=
a = %izD— H- 1045
0,0 H20 U
d"x," dx," :
at +30. 48 x p -1.04xx,” =92.9
Xol t + 1 = (:leo 0314k + (:ze- 30. 514k _ 89. 33
dxol 0. 0314k - 30. 514k
ak =0. 0314c,e - 30. 514c,e ™
t=0 k=0
c +c, =92 204
0. 0314¢, - 30. 514c, =0. 213
c,=92.192 ¢,=-0.1
X' t+1 =92 1926 % +0.1e % - 89.33
k=01234
X! X! 1-I1AGO

10
1g



5-3
5-3

t Xt XL e=Xt - X elX’ %

0| 282 2862 0.012 0. 4175

1] 6.050 3.188 0. 090 2. 7456

2| 9.349 3.299 0.038 1. 1387

3 122760 3.411 - 0.021 - 0. 1695

4 116.292 3.532 0. 147 3.9957

GM 11
GM n1l n>1
GM 1 1 GM
11
GM 1 1
1
d)c(it raxt =u
a= a u’= B B 'BY

Y= x"2 x° 3 X, T ~
0D L2 wxt 1 10
o 2% % 0
o, 1 0
O - 3 +x' 2 10
B=pg 2 % 0
O 0
0, O
5% T +x T-1 14
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1 + 1 - 0 1 _ i - at + £
X ot Xo a € a

X' t+1 =x' t+1 -x' t

t=012... Tx’ 1 =x" 0
5-3 GM 11
5-4 1991 - 1998

1991 1992 1993 1994

t 1 2 3 4
%° 33.27 30.93 43.88 63.51
X! 33.27 62.20 108.08 171.59

1995 1996 1997 1998

t 5 6 7 8
Xy 127.84 138.84 141.78 156.47
X" 298.62 437.46 579.24 735.71

5-4
a= -0.199 41.4562 "
GM 11
1
d)ét - 0.199x ! =41. 4562
X, t+1 =241.62¢" - 208.35
5-4 1991 - 1995 1- AGO
1991 - 1994

1995

GM



5-5 1991 - 1995 1- AGO
1991 1992 1993 1994 1995
t 1 2 3 4 5
XOO 383.3775 393.0404 399.3632 406.0071 414.6215
Xol 383. 3775 776.4179 1175.7811 1581. 7882
1 o
D l 1 1
J U - 579.8077 1
g 1 N . O
B=0 5 %' 2 +x' 3 10% - 976.0005 1f
B 1 E 0. 1378. 7846 1V
05 % 3 +x' 4 10
Y = 393.0404 399.3632 406.0071 *
= au’ = B B BY
= - 0.01623178 383.5911 -
GM 11
dx,’' 1
- 0.01623178x," =383, 5011
X,© t+1 = 24015, 49¢€ "= - 23632, 11
2 5-6
5-6
t X! X, X,° %
2 | 776.3711 392.9936 393.0404 0. 048 0.012
3 |1175.7970 399.4258 399.3672 - 0.062 - 0.015
4 |1581. 7600 405.9629 406. 0071 0. 044 0.010
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3
t=4 X, 5 =412.6055
1995 414. 6215
0. 48%
1.GM 11
GM
X!
X,°
et =X t - X° t t=12
S
GM 11
1 T
$=72 Xoo t 'Xoo 2
t=1
1 « -
S == t -¢g?
), T; & &£
~ 1 T o o 1 T
= — t = —
Xo TtZ{XO & T;é‘
=S/§
P=P |6t - ¢|<0. 67455

0. 012%

X

GM 11



5-7 GM 11
p C
1 0.95<p C<0.35
2 0.80<=p<0.95 0.35<C<0.50
3 0.70=<p<0.80 0.50<C=<0.65
4 p<0.70 0.65<C
p= e t - 2| <0.67455, IT
GM = p C
2. GM
GM
GM 11
Ltsl o= x% 1 -2 easl
X Xo a °© a
d 1
);Ot = u-ax, 1 €e*
d 1
—);‘Jt =% t+1 - x' t o=x' t+1

0

X, t+1 = u-ax, 1 €

au

0 2
7ot (o)
%o

042 042
Uioo 1 (L)(;Oa ) 0'2 + (LXO ) O'ﬁ
a2)(00

+2

odaiu
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2 0,2 2,0
Uio t+1_(axo)0'i+(axo) 5+ IX au
Ja ou daou
B= BB ’1=[b“ blz]
b, by,
b, =y,
ou=byop =b,0} Uiu— 0o = bzla'o
1 < )
=+
7o _«/T-li;
0'§00 v = oag’ 1 o-x" 1 -tu 2611"'622
+2atx’ 1 -x° 1 -tuby, %e‘a‘ao
X' t+1
Xoo t i«/o'ioot
GM 11
GM
GM
1
X' = %’ tt=12 T
2
min - =min x> t
t
3 XS t =x t +2|mn - | t=12... T




(o8]

GM

GM 1 h
GM 1 h
XO
0
X% j=12... m X,?
X% j=12... m
GM 1 h n=1
h=m+1 h
m
d 1
B rax! =bx! +bx! 4. +bx!
a= a b b b, "= BB 'BY
Y: XOO 2 XOO 3 XOO T T
g-%xolz+xoll X' 2 X
E Lyt 3 oext 2 x' 3 X
=|:| 2 XO XO 1
O
s 1
E-?X01T+Xol T-1 ' T X

OoOoooooood
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m m o
1 _ 0 Yo - at Yo
X' t+1 = x 1 —Eaxj t+1 e +Zaxj t+1
j=1 j=1
t=23. T
5-5
5-8 GM1 2
5-8 1- AGO
t 1 2 3 4 5
X° 2.874 3.278 3.307 3.390 3.679
X° 7.040 7.465 8.075 8530 8774
X! 2.874 6.152 9.459 9.849 16.528
X! 7.040 14.685 22.760 31.290 40.064
1 GM 12

dx,*
dt + axol = blxll

Y = XOO 2 XOO 3 XOO 4 XOO 5 T
= 3.278 3.307 3.390 3.379 7

B% X' 2 +x5 1 x' 2 B

0 4 0 [ -4.513 14.685(

0-5 % 3 %% 2 %" 30 (0 _;gy 2 700
B=g | 5-0 11154 31 2602

D'? Xol 4 +X01 3 Xll 4 D H : ) H

g o O-14.689 40,0640

1
E-? %' 5 +%' 4 x' 5H

a= a b "= BB 'BY= 22273 0.9067 "
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GM 12

dx,
dt

1

+2.2273x%," =0.9067x,"

2

1 — 1 Q 1 -at E 1

X t+1 = X~ 1 -—=X%  t+1 e " +—x~ t+1
a a

1

X' =% 1 =2874

Xt t+1 = 2.874-0.41x t+1 e 2%%+0.41x* t+1

t=012314
3 5-9
5-9
t| X! XS  e=X? -X°  elX’ %
0| 2874 2874 0 0
1|5978 3111 0.167 5.1
2| 9.265 3.287 0. 020 0.6
312737 3.472 - 0.082 - 2.4
4 |16.389 3.572 0.107 2.9
GM 1 h
GM 1 h
GM 1 h
X, X% j=12 m
GM 1 h X! X? GM 1 h
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X° j=12... m

GM 1 h
m
GM 1 h
GM 1 h XS X
5-6
Domoic Acid
ASP
GM 1 h
1
2.
X, k | k=1
N N=31 ind/
T S 0 DO mg/L
pH PO, png/L NO,
wa/L NO, png/L S o/l Fe
wa/L Mn pg/L S ug/L Vo oug/
L Mo pg/L 15 X, k |k=
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12... N i=12... 15
3.
1
Yok\k212...N:Xok/XOl\k:lz..N
X, 1 =0
Y, k :Xik/le i=12... N
2 L= L klk=12... N i=
12... 15 Y, t i
Y, t
mnA; k +maxA; k
é’. k = k k
i=12... 15 k=12 ... N
Ak =Y,k -Y, k| pO<p<1
p =01
3
1 N
v =3¢k i=12 15
N &
Yi Yo t Yt
4 S S S
5-10
5-10
S S
Sy S, Su Sy Sy Sy
1. 0.9094 | 0.9404 | 0.9378 | 0.8710 | 0.9844 | 0.8858 | 0.9215 | 1
2. T 0.8482 | 0.9143 | 0.8590 | 0. 7208 | 0.9373 | 0.6124 | 0.8153 | 10
3. S 0.8627 | 0.9187 | 0.8795 | 0. 7426 | 0.9467 | 0.6434 | 0.8323 | 9
4. DO 0.8750 | 0.9273 | 0.8917 | 0. 7769 | 0.9533 | 0.6568 | 0.8468 | 6
5. PH 0.8617 | 0.9230 | 0.8815 | 0. 7505 | 0.9468 | 0.6475 | 0.8352 | 8

177



178

S, S S;
Sy Sp Sy Se Su Sp
6. 0.8984 | 0.9239 | 0.9125 | 0.8049 | 0.9764 | 0.8517 | 0.8946 | 3
7. PO, 0.4616 | 0.5394 | 0.4036 | 0.4003 | 0.6044 | 0.7720 | 0.5302 | 15
8. NO, 0.8364 | 0.6787 | 0.8148 | 0.6628 | 0.6738 | 0.6718 | 0. 7231 | 13
9. NG, 0.8536 | 0.8825 | 0.6976 | 0.7390 | 0.9291 | 0.6288 | 0.7884 | 12
10. S 0.5109 | 0.8441 | 0. 7457 | 0.5876 | 0. 7220 | 0.5367 | 0.6578 | 14
11. Fe 0.9061 | 0.8749 | 0.9338 | 0.8270 | 0.9826 | 0.8470 | 0.8952 | 2
12. Mn 0.8916 | 0.9434 | 0.9120 | 0.7932 | 0.9695 | 0.6235 | 0.8555 | 4
13. & 0.8053 | 0.9150 | 0.8888 | 0. 7447 | 0.9393 | 0. 7271 | 0.8367 | 7
14.V 0.8528 | 0.9210 | 0.8880 | 0. 7735 | 0.9445 | 0. 7056 | 0.8476 | 5
15. Mo 0.8810 | 0.8949 | 0.8308 | 0.7241 | 0.8978 | 0.5608 | 0.7982 | 11
4.
GM 1 h
1 X° k |k=12... N i=12 h
N=31 h=9
2
k
X = Yy Xx° t k=12...Ni=12... h
t=1
3 GM 1 h
dX, n
i +ax, = 2 b1 X
=2
a= ab b ... b, = BB 'BY,
Yo= X 2 X 3 ... X\ N ~




g-%x12+x21 X, 2 X, 2 &
0, 0
0 = X, 3 +X, 2 X, 3 X, 3 O
0 2 0
0 0
0, 0
%?XlN +X, N-1 X, N X, N H
S S S
a 5-11 GM
5-2
cell /L
5-11
a by b, b, b,

- 0.2269| - 2.5234| 0.2763 10.5234 | - 0. 7505

0. 4012 2.0433 - 0.5704 | - 14.6572| 0.2919

0. 2385 - 3.4798 | - 0.0482| - 7.3364| 0.3193
- 0.0536| 7.6625 1. 0598 - 6.5949 | - 0.119

0.1704 - 0.3140| - 0.3096 | 3.9879 1. 0956
- 0.2520| - 0.3915| 0.1549 - 3.1967| - 0.1083

b b b, by

2.6233 - 2.6936| - 0.4442| 1.9905
- 6.1873| - 1.6069 | 2.1332 - 5.0881
0. 9804 6. 2593 1. 5687 - 5.7345

- 2.2748 | - 7.1694 | - 0.8934| 5.7518
- 1.7215| 3.2427 1. 6728 - 3.6691

- 0.0996 | - 1.0885| 0.9904 0. 6037
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4 Mn V &

DO pH
NO, NO, S PO,
5 5-2

GM

Fe
Mo

GM
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#IK(6,)
> s g yd
4 I 377-'
/1 yIELE C #kO
X\@ Z
7] [
| 7 . g
%k (6) Brik 2
=< %
Vi
piiw) A B
6-1 a
0,
D e | D
6-1 b



q 0,

6o
P,
D+ D, = Dy + Dy + D,
W
kg/s
C, J kg
®, = CaC,0,
c J/
_ 96,
Pr=C
@0 :qcpeo
0 R /W
_60 - 6
b, = R
deo 00 - ai —
CE + qCp 00 0| + R - gpl
do, _
TE'F qch+1 6, = R@I + qch+1 0,
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5

Xy
Xo

A 2
zm "

(R
22

'Ul"
‘ly

uy
Uy

WJ
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a, +a, X = aXx+aX
a, X = a, aXx
Q Xty =ax+ay
X y a1 a2 X y

y=a+
bx + o y X a b
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Cobb - Douglas
Y=AL"K% 0<a a,<1 a +a =1
Y L K A
[y=logY
B, =logL
§J2=|OgK
L, =logA

y:aO +alu1 +a2u2
Cobb - Douglas |

1. L. A Zadeh 1962
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2. P. Eykhoff 1974

V. Srejc P. Eykhoff

3. L. Ljung 1978

T/Q
Q Kk Tk k=12...1L
Tk +aT k-1 +... +a,T k-n

=bQk-1 +... +bQk-n +ek

L
J:;;ék
L

Tk +aT k-1 +aTk-2 +...

k=1

+a,T k-n

-bQk-1 -bQk-2 -...-bQk-n ?



ORWEAE (AE) lmm
PO (RHE)

6-3
Q T
Q k T k
a b i=12...n J=min
6-4
hik) e(k)
T s |20
ha(k) 0
6-4
Hk zk
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e k (]
Hk = h k h,k ... hy kK ~
0= 0,0,... 6 ° 6-1

N
zk =Y6oh k tek =H k9+ek 6-2
=1

6-2

zk +azk-1 +a,zk-2 +... +a,zk-n
=bu k-1 +bu k-2 +... +bu k-n +ek

ut zt
Hk = -zk-1 ... -zk-n uk-1 ... uk-n 7
0= a ... a, b ... b 7
H k
zk =H k "9 +ek 6-3
6-5
6-4
H k 6-3
H k ut
6-2 H k
ut zt et
w t
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M%mﬁyw)

u(k) | (k) +y+ z(k)
i Atk Sty A e
6-5
6-6
%
LB st
— .
|
,,,,,,,,,,,,,,,,,,,,,,,,,,, .
/ﬁ gjam
L > %] _
—> p -

L 0k)

Ly BRI
6

A4

zk =H k"0 k-1
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0 K

H

k

Z k

~ x
1l 1

0

chy

_tha
0

e &

=H k "9 +E k

z k zk ... z, k

e k e k
= 0,60, ... 6,
k h, k
k hy, k

h, K

. e, k

e

T

hy K
hy K
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Uy % Uu %
1 6-2
z? z'zk =z k-1
[A z' =l+az'+... +a,z"
Bz' =bz'+... +b,z"
Az'zk =Bz uk +ek 6-5
u k z k
u k  z° k I
u k z k 1

Az' Azk =B z' Au k-1 +Aek-1 6-6
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